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1.  The range of a signed char data type, in C, is .
(a) —128to+ 127 (b) —127to+ 127 (c) —128to+ 128 (d) —127to+ 128

2. What will be the output of the following program fragment in C language ?
Ad=(a=10,b=20,a+b);
printf (“%d”, Ad);

(a) 10 (b) 20 (c) 30 (d) 40
3. A pointer variable in C language can store of a variable.
(a) only address (b) only data
(c) both address and data (d) None of these
4. In C language, which function is used to join character strings ?
(a) strepy() (b) strcat() (c) stremp( ) (d) strlen()
5.  What is an example of iteration statement in C ?
(a) Run (b) Execute (c) do-while (d) None of these

6.  The size of a union in C language is equal to
(a) the size of its largest member
(b) the size of its smallest member
(c) the default size allocated by the C compiler
(d) the sum of sizes of its all elements

7.  What will be the value of x if the following C program fragment is executed with a =5 and

b=97?
x=a>b?a:b;
(a) 5 (b) 9 (c) 4 (d) 14
8. In C language, fscanf( ) function is used to formatted data from the stream.
(a) read (b) write (c) append (d) delete

9. In C language, if an array is declared as following :
int arr [6] [6];
then how many elements can be stored in it ?
(a) 6 (b) 12 (c) 36 (d) 66

10. In C language, if a function calls itself then this process is called
(a) recursion (b) iteration (c) division (d) modulation

11. How many times will the following for loop in C language run ?

for (55);
(a) Zero (b) One
(c) Infinite (d) Will give syntax error
12. is an identifiable entity with some characteristics and behaviour.
(a) Object (b) Data (c) State (d) Attribute

13.  Which feature of object oriented programming is used for objects to communicate ?
(a) Encapsulation (b) Inheritance (c) Message passing (d) Dynamic binding
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makes it possible for objects to be treated like “black boxes”.
(a) Data abstraction (b) Encapsulation
(c) Inheritance (d) Polymorphism
Which concept of object oriented programming provides the idea of reusability ?
(a) Polymorphism (b) Inheritance (c) Encapsulation (d) Data binding
The list is always enclosed in parenthesis and contains variable names and type of all
values we want to give to the method as input.
(a) Constructor  (b) Class (c) Parameters (d) Data types

An operation may exhibit different behaviour in different instances by .
(a) Polymorphism (b) Inheritance (c) Encapsulation (d) Abstraction

When a subclass inherits from a class that itself inherits from another class is called
inheritance.

(a) Multiple (b) Single (c) Multi level (d) Hybrid
Using , we can eliminate redundant code and extend the use of existing classes.
(a) Polymorphism (b) Inheritance (c) Encapsulation (d) Abstraction

Which type of inheritance does following diagram represent ?
A

B C
N

(a) Multi level (b) Hierarchical (c) Hybrid (d) Multiple
Virtual function can not be

(a) Static function (b) Parameterized function

(c) Default argument function (d) No parameter function

A subclass is also called class.

(a) child (b) derived

(c) both child class as well as derived (d) None of these

Which one of the following is not a type of constructor ?
(a) Copy constructor (b) Friend constructor
(c) Default constructor (d) Parameterized constructor

If same message is passed to objects of several different classes and all of those can respond
in different ways then what is this feature called ?

(a) Inheritance (b) Overloading (¢) Overriding (d) Polymorphism
A is a member function of a class that initializes objects of that class.
(a) friend (b) constructor (c) destructor (d) initiator

Which of the following concept in OOP does represent wrapping up of data and functions
together ?
(a) Encapsulation (b) Abstraction (c) Inheritance (d) Polymorphism
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27. is used to implement late binding.
(a) Operator function (b) Constructor function
(c) Static function (d) Virtual function

28.  Which one of the following is not correct about constructors ?
(a) They have the same name as the class itself.
(b) They do not specify the return type.
(c) They cannot pass parameters.
(d) None of these

29. A variable or method declared as access, has the widest possible visibility.
(a) friendly (b) protected (c) public (d) private
30. A class A that can access private members of another class B is called
(a) derived class of B (b) friend class of B
(c) super class of B (d) child class of B
31. In OQP, the feature by which one object can interact with another object is called
(a) Message reading (b) Message passing
(c) Data transfer (d) Data binding
32. Which concept in Java makes it platform independent ?
(a) Distributed computing (b) Write-once-run-anywhere
(c) Object oriented (d) Secure

33. The break statement in Java is used to
(a) exit from the loop
(b) exit from the program and stop execution of program
(c) skip the current iteration
(d) All of these are correct.

34. Which of the following is not an access modifier in Java ?
(a) private (b) public (c) protect (d) protected

35. InJava, which keyword is used to implement inheritance between classes ?
(a) inherits from (b) inherits (c) implements (d) extends

36. InJava, which mechanism helps in the naming as well as visibility control of the classes ?

(a) Packages (b) Interfaces (c) Object (d) None of these
37. InJava, which of the following packages contains abstract keyword ?

(a) java.util (b) java.lang (c) java.system (d) java.io
38. Javaisa/an programming language.

(a) modular (b) structured (c) procedural (d) object oriented

39. What is type casting in Java ?
(a) converting one data type to another data type
(b) casting a variable to the class
(c) creating a new variable
(d) All of these are correct.
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40. Which interface is used to create a thread in Java ?

(a) Processor (b) Runnable (c) Executor (d) Threadable

41. InJava programming, the size and type of values that can be stored in a variable is specified
by .
(a) Identifiers (b) Literals (c) Data types (d) Operators

42. Interfaces in Java are used as
(a) superclasses (b) subclasses (c) child classes (d) None of these

43. Number of primitive data types in Java are :
(@) 5 (b) 6 (c) 7 (d 8

44. Which is incorrect in case of threads in Java ?
(a) Threads can be blocked temporarily.
(b) Threads can be stopped using stop() method.
(c) Threads cannot be moved to dead state.
(d) None of these

45. An exception in Java is a condition which is caused by

(a) run-time error in a program (b) compile-time error

(c) syntax error (d) Both (b) and (c) are correct.
46. Which method in Java generates Boolean random values ?

(a) randomBoolean( ) (b) nextBoolean( )

(c) generateBoolean( ) (d) previousBoolean( )

47. Which one of the following is not a primitive data type in Java ?
(a) classes (b) integer (c) boolean (d) character

48. Which operator in Java takes three operands ?

(a) Logical operator (b) Conditional operator
(c) Relational operator (d) Arithmetic operator

49. InJava, members are accessible only inside their own class and nowhere else.
(a) private (b) public (c) protected (d) default

50. What will happen if following statement is executed in Java ?
System.out.println “A Test”;
(a) run-time error (b) compile-time error
(c) the output will be : A Test (d) Program’s execution will stop.

51. InJava, bytecode is machine independent and able to run in any machine that has a
(a) Java compiler (b) Java code (c) Javainterpreter (d) Java machine

52. Which of the following is/are linear data structure ?
(a) Graph (b) Array
(c) Stack (d) Both (b) and (c) are correct.

53. A situation where one wants to delete data item from empty data structure is called
(a) Overflow (b) Underflow (c) Priority location (d) None of these
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How many elements a two-dimensional array A[m] [n] can store ?

(a) m (b) n (c) m+n (d m-n
An adjacency list is used to represent
(a) Tree (b) Stack (¢) Graph (d) Binary Search Tree

Degree of a node in a tree represents .
(a) height of the node (b) number of children of that node
(c) number of left children of that node  (d) None of these

In a binary tree, maximum number of nodes at n' level can be .
(a) 2" (b) n () 2" +1 (d 2"-1

A dequeue is a queue in which elements

(a) can be added on both ends

(b) can be deleted from both ends

(c) can be added on one end but deleted from another end
(d) Both (a) and (b) are correct.

What will be the output if given binary tree is traversed in preorder ?

(A)
B Q
E) o

(a) ABCDE (b) ABECD (c) EBACD (d) DCABE

What is the average time complexity of quick sort ?
(a) O (logn) (b) O (nlogn) () 0% (d) O(n)

Which of the following is the equivalent postfix expression of the given infix expression ?
Infix expression A + B * (C —D)
(a) ABCD-*+ (b) CD-AB*+ (c) AB+CD-* (d) AB-*CD+

A linked list where last node points back to header node is called

(a) Dequeue (b) Circular header list

(¢) Grounded header list (d) None of these

The notation in which operator symbol is placed after its operands is called
(a) Polish notation (b) Reverse polish notation
(c) Prefix notation (d) None of these

Items A, B, C, D and E are pushed into a stack in that order. Two items are popped from the
stack and inserted into a queue. Which item is present at the rear of that queue ?
(a) B (b) A (c) D (d E

Which of the following algorithm requires data to be sorted ?
(a) Linear search (b) Binary search (c) Both(a)and (b) (d) None of these

If all edges of a graph are assigned some data then the graph is called
(a) Unlabelled (b) Labelled (c) Directed (d) None of these
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(a) T Fo W ST S EeheT B |

(b) T o & e S HehaT 2 |

(c) T T8k & SAIST ST Wehell & Sifeh gaL R & g2 S Hepa 2 |

(d) (a) 3 (b) GHI FET € |

Ife o3 gu aTeT 9@ (&) i et & o fohen I 33ege = Bnm ?

(A)
B  (©
(E) D)
() ABCDE (b) ABECD (c) EBACD (d DCABE
forren |7 <h1 3719d 2eH hirifedd T g ?
(a) O(logn) (b) O (nlogn) (c) O(n?) (d) O(n)

feu sfthere Tede M o Toqey W fthad TedeH frefafaa g e g 2
(e THIUSH A + B * (C — D)

(a) ABCD-*+ (b) CD-AB*+  (c) AB+CD-*  (d) AB—*CD+

e fotare foree fod s1fam e Bt A W o 3fia (wise) it g, HEATT B |
(a) ferg (b) THR g TR (c) TRSS et fore  (d) 70 & S 74
g v foraw stRex fog (Rierer) =1 35eh 3tfoied % o1g W@ 91T 7, FHEATAT R |

(a) UM AR (b) Tod uifewr Aesm (¢) Tfthem Aesm (d) 379 | g &
T A, B, C, D 3R E ! 35! 350 T Tsh Wb T STcT1 AT & | Tooh T & el Hehled ITd & 3T Teh
HAR () T A I 8 | AR (F) & I8 (fer) sAaraa g ?

(a) B (b) A () D (d E

Frefafaa § o form wemifien & fou grer dide (T sy |) 8FT 31999 § 7

(a) e (fafer) == (b) T T

(c) (a) 3R (b) M (d) T & IS TE

Ife T UTh o Tt TSI (edges) T F STl f+ad fohanm <, ot I FHEATT B |
(a) ITECS (b) wEcs (c) STEEE (d) 379 9 HIE &
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67. To insert a new node in the middle of a doubly linked list, how many pointers need to be

updated ?

(a) 2 (b) 3 (c) 4 (d) 5
68. A binary tree with n nodes can have exactly edges/branches.

(@) n (b) n+1 (c) n—1 (d) n?

69. What is the value of the following postfix expression ?
5: 6: 2: +> *5 125 45/5_
(a) 40 (b) 37 (c) 42 (d) 45

70. If in-order and pre-order traversals of a binary tree are dbeafcgandabdecfg
respectively, then its post order traversal is

(a) debfgca (b) edbgfca (c) edbfgca (d) defgbca
71. Searching for an element in a hash table requires time.

(a) O(n) (b)) O(1) (¢) O (logyn) (d) None of these
72. Which data structure is based on the Last In First Out (LIFO) principle ?

(a) Tree (b) Linked list (c) Stack (d) Queue
73.  Which of the following algorithm is of divide-and-conquer type ?

(a) Bubble sort (b) Quick sort (c) Insertion sort (d) All of these
74. How many distinct hash values will be generated from h(x) = x mod 8 operation ?

(a) 4 (b) 6 (c) 7 (d) 8
75. Which data structure is used for implementation of recursion ?

(a) Queue (b) Stack (c) List (d) Array

76. A graph with all vertices having equal degree is known as .
(a) Multi graph  (b) Regular graph (c) Simple graph (d) Complete graph

77. What is a Directed Acyclic Graph (DAG) ?
(a) A graph with directed edges and cycles
(b) A graph with undirected edges and cycles
(c) A graph with directed edges and no cycles
(d) A graph with undirected edges and no cycles

78. The time-complexity of a program depends upon
(a) compile-time only (b) run-time only
(c) both compile-and run-time (d) None of these

79. How many minimum spanning trees are there in graph given below ?
2

(a) 4 (b) 2 (¢ 1 (d) 3
80. Which of the following symbol represents asymptotic notation ?
(a) O (b) Q (c) 6 (d) All of these
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67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

Teh Soc fofarg ToTee o A | Ueh 9T ATE STt o foTu fohd wiTged hi 37erd™ o <hl 3TTa9aehdl
Bl ?

(a) 2 (b) 3 (c) 4 (d) S
THnAS A T I () AFA_ ToE /S (@) & Hehel 2 |
(@) n (b) n+1 (c) n—1 (d) n?
feu T I EIH ST A TR 7

5,6,2,+ * 12,4, /,—

(a) 40 (b) 37 (c) 42 (d) 45

3R foreft aTe 387 (1) o 337X TR M-37iet ga8cd s dbeafcgdRabdecfg
B, 1 3HehT Y- 3T Jadd 2

(a) debfgca (b) edbgfca (c) edbfgca (d) defgbca
TH N ST H Pl T I @A T Tl g |

(@ O(n) () O(1) (¢) O (log, n) (d) 34 @ 15 TEl
I H ST FEAT A 3 B 3113 (LIFO) forgr=a vt snamf@ @ 7

(2) 34 (1) (b) forere gt (c) R (d) e (F)
frafefaa 3 @ 9 @1 wenfen famee 3 St TR 18 ?

(a) oo G ORESEXI (c) s ETe (d) Ao Tt g |
h(x) = x mod 8 HfsHAT (3TTREA) & foha fafer=1 891 9 3= g #

(a) 4 (b) 6 (c) 7 (d) 8

Tiehei <l AR A & oI 1 BT STeT T T 8 37T 8 7

(a) Queue (b) Stack (c) List (d) Array

ek U1 T i ot < el wme B 2, HEATATR |

(a) TS UTH (b) TR 7T (c) ¥ UTH (d) Hrie TH
T TR (et waTEfats U% (DAG) F1 @ ?

(a) Tafde wo@ 3R =shi a1eTT U TTH (b) ffcE TSE 3R =3kt 91T T UTH
(c) iz @ s e ashiaren wh o (d) AffcE wo@ 3R fomm =rshi arett e I

Teh T hi THI-STfeeren et et 2

(a) Tod HraEA-THT W (b) Tod T-Tma |
(c) SHPITSS el T -8H SHI T (d) T @ HIg &
ot fe o umw B fopan fafm Afm A € 2

(a) 4 (b) 2 (¢ 1 (d 3
freferfiea § & i faraer whroeifes TRoyH et 2 2

(@ O (b) Q (c) 6 (d) e =g |
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81. The Big-O notation of the expression 7n3 + 5n% + 6n + 2 will be
(&) O () (b) O (n?) (¢) O(n) (d) O()

82. There are four algorithms A, A,, A; and A, with time-complexity O(log n), O(log log n),
O(n log n) and O(n) respectively. Which one of them is the best algorithm ?

(@) A (b) A, (c) Aj (d) Ay
83. Which of the following algorithm design method is the best approach for solving fractional
knapsack problem ?
(a) Exhaustive search (b) Greedy algorithm
(c) Brute-force algorithm (d) Divide-and-conquer algorithm

84. Computational time complexity of the following program segment is
for(G=0;j<n;j++){
for(i=0;i<n;i++)

x++;}
(@) O(n) (b) O (n?) (¢) O(1) (d) O
85. In a graph, Kruskal’s algorithm is used to
(a) find the minimum spanning tree (b) find single source shortest path
(c) find all-pair shortest path (d) traverse the graph
86. Which of the following is the recurrence relation for Binary search algorithm ?
(a) Tm)=2T @/2)+1 (b) Tn)=T (n/2)+1
(¢) Tm)=T /3)+T(2n/3)+1 (d Tn)=T(n)+1
87. Which of the following represents a phase of an instruction cycle ?
(a) Decode the instruction (b) Execute the instruction
(c) Fetch an instruction from memory (d) All of these
88. In which programming language the following code is written ?
ADD A B
(a) Assembly language (b) Machine language
(c) JAVA (d) C
89. Operation code of an instruction represents
(a) data part of the instruction (b) address of the instruction
(c) type of the operation (d) address of the data

90. Which of the following register holds the address of the next instruction to be read from
memory after the current instruction is executed ?
(a) IR (b) AR (c) PC (d) TR

91. Inindexed addressing mode, effective address is obtained by
(a) index register itself
(b) adding content of indexed register with address part of instruction
(c) the instruction’s address part only
(d) All of these are correct.

92. Which of the following line(s) is/are part of I/O bus ?
(a) Data lines (b) Control lines (c) Address lines (d) All of these
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81.

82.

83.

84.

8s.

86.

87.

88.

89.

90.

91.

92.
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TRIISH 703 + 5n2 + 6n + 2 1 feAT-30 (Big-0) ARIM &M

(a) O(n’) (b) O (n?) () O(n) (d) O(1)

TR TATNGH A, A,, Ay 3T A, 8 Toeht Tmr-Sfeatar shmst: O(log n), O(log log n), O(n log n)
TUT O(n) B | 370 & TeH 3= TANNGH HIH ATE 7

(@) A (b) A, (c) Aj (d) A4
ﬁmﬁgﬁqﬁamaﬁgﬂw&%{qﬁmﬁﬁ%ﬁﬁﬁﬁﬁwﬂﬁ@%ﬁmﬁﬁmm
alihr g ?

(a) TEEIfeea T4 (b) Ut Temmifig
(c) SE-Id TeliieH (d) TeaTss-Tus-wie i
FrfaRaa o e 1 STy a0 Sfeadn 2|

forG=0;j<n;j++){

fori=0;i<n;i++)

x++;}

(@) O(n) (b) O (n?) () O(D) (d) O(n?)
Teh UM H, FHEehcl o TSTIIGH 1 ST fehall STl &
(a) Torfram @afin & sma 0 % o1 | (b) ToTer B Wi TT T i 6 g |
(c) JATA-UIW IMEE WY [1d A o AT | (d) T 1 da8 i o T |
Frafafiga 4 @ <9 @ sz o< wenien 1 o e 2 7

(@ Tn)=2T (n/2)+1 (b) Tn)=T (n/2)+ 1

(¢) T(n)=T (n/3)+T (2n/3) + 1 (d) T(n)=T (n) + 1
Freferfiaa § @ i &1 U e wrsfenet & =0T (hsT) 1 euiaI ?

(a) TR i fehig HET (b) ST I THAHRE BT
(c) TEEaH o Hud ¥ ferer (d) 3ot

Frafefaa e fera Tt wmr & ferer mn g 2

ADD A B

(a) STOTEA 9T (b) HRAHT W (c) JAVA (d) C
Tertft S T HATRIH IS FdTdT &

(a) $EHME & ST ITe & i (b) $EEE % Id I

(c) SATRIE % THR bl (d) 121 9d I

FrefaTRaa o s a1 T aa s (Few) o FreTfea (Tesfiage) B o o916 B § ue
S 9Tt 3Tl s (Feer) s uar e 2 2

(a) IME.3AR. (IR) (b) T.3TR. (AR) (c) dt.#. (PC) (d) 3.3, (TR)
$eoEg Ul alish |, gWhiaee Tl ITH BT 2

(a) HY 33 Wrerq

(b) SSTE TN o hic I FLAM o TH a1t W bl ATSehT

(c) hadl S & Ted I I

(d) Iefi & 2 |

frfafiaa 3 @ @ & og= 1O w@ %1 fewm 8/8 2

(a) SRTABHE (b)) hgA@EH  (c) TgH ABH (d) Fedfi el 2 |
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93.

94.

9s.

96.

97.

98.

99.

100.

101.

102.

103.

104.

10S.

106.

Micro-operations are the operations which are performed on data

(a) stored in hard disk. (b) stored in registers.

(c) stored in pen drive. (d) None of these

Which of the following is a data manipulation instruction ?

(a) Subtract (b) Input (c) Move (d) Store
The transfer of the content of a data register to a memory word is called

(a) Read Operation (b) Transfer Operation

(c) Write Operation (d) None of these

Which of the following denotes transfer of content of register R, into register R; ?
(a) Ry, <R, (b) Ry <R, (c) Ry—R, (d) None of these

Which of the following comes under the asynchronous data transfer between two units in a
computer ?

(a) Strobe (b) Handshaking (c) Both(a)and (b) (d) None of these
Which of the following is/are known as micro-operation ?

(a) Shift (b) Clear

(c) Neither (a) nor (b) (d) Both (a) and (b) are correct.

The process of decomposing a sequential process into sub-operations, with each sub-process
being executed concurrently is called

(a) Overlapping (b) Pipelining (c) Vector processing (d) Random processing
Which of these register is not in DMA Controller ?

(a) Address register (b) Word count register

(c) Control register (d) Instruction register

In which addressing mode, the effective address is equal to the address part of instruction ?
(a) Indirect addressing mode (b) Direct addressing mode

(c) Relative addressing mode (d) None of these

Which of these is not a database model ?

(a) Object Oriented Model (b) Relational Model

(c) Hierarchical Model (d) Tree Model

Database schema does not represent
(a) Layout of the database (b) Attributes of the database
(c) Values of attributes in the database (d) Datatype of each attribute in the database

Which of the following is not a constraint in Relational model ?
(a) Domain Integrity Constraint (b) Referential Integrity Constraint
(c) Entity Integrity Constraint (d) Locking Integrity Constraint

Domain of an attribute represents
(a) Largest value of attribute (b) Set of permitted values of the attribute
(c) Setof non-permitted values of the attribute (d) None of these

Which of the following is not a normal form in database ?
(a) 2" Normal form (b) Basic Normal form
(c) 3" Normal form (d) BCNF
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93.

94.

9s.

96.

97.

98.

99.

100.

101.

102.

103.

104.

105.

106.

TTS5h1 - AT o TR @ ST 37 ST T hM hid 8 Sl

(a) TS e AR RIS 2 | (b) TR TR R E |

(c) T 3T 4 WR I I & | (d) 30 T IS Tl

frafafga & @ w9 a1 e st Afgey SeRE 8 7

(a) Subtract (b) Input (c) Move (d) Store
1T T o whee o THRT I8 | TR0 <l HEd ¢ |

(a) UGH I JTRIE (b) TR IRIE (c) ToT@ &1 RIE  (d) 370 T B T
frefafaa & @ @ a1 et R, % e & T R | T TATHI=HUT I GTdT 8 7

(@) Ry <Ry (b) R} <R, () Rj =R, (d) S € I3 TR
Teh PR 3 Gl (T b o § TR STeT ZEhL o TR HHTTRID H & HH |1 AT 8 7
(a) B (b) 2uSIfRT © ()3 (b)SHT  (d) TH AR TE
frafefaa 3 @ 19 a1/ ATEehl-3TRIH & 9 H SHT ST 8/ AT 8 2

(a) T3 (Shift) (b) fFT (Clear)

(¢)  (a) 3 (b) (d) (a) 3 (b) I E |

Teh 3Tsh{Heh TR i IU-T=TeH ¥ faafeq & i fohan s I 3u-S=mes are-ary
ffea &1, e 8

(a) SNETAMT (b) UTEIATST (c) ST TR (d) Yeu Tafam

2 TH T (DMA) H3ieit # i 91 Tt T8 81 & ?

(a) WAL (b) TEFRBE TR (¢) Tt WX (d) F=RM T
fora wefim faftr o, guret vaT SgaRm & T@E U F THH BT 8 7

(a) TSI ugha fafy (b) sEReR Tgf fafy

(c) Teetfes wgfam fafy (d) T & I3 TE

T U 9 G SN Hied T8 8 7

(a) 3Aesiae SART=E Uigar (b) Tetemet aisa

(c) Teufherat aieet (d) &t Hied

STeTed ThIHT YERId T8 hidl & —

(a) SIS T WThT (b) SETEE % Teged

(c) STeeH H TILH o AH (d) STeTe™ H Y TSI I STeT 25T
ffeRad § @ 1 fereme uiea 3 T s T8l § ?

(a) B AR Fad= (b) TR 3= Fd<

(c) Ufedt gfirdt Frae (d) SR 3R e

T TSI 1 SMHA ST 2

(a) TSI 1 FH 91 AW (b) TIeE T ST WHT o = Hl
(c) TEISYE i 31~ 3TqHd Ui o TY= b1 (d) T4 9 HIE T

freferfaa o a1 ey H e B T8 8§ ?

. (2) EUAHAGE (b) SEETHA®E () TEUAHAEH () H T
CSE
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107. Which of the following is not an example of DBMS ?

(a) Excel (b) MySQL (c) Access (d) DB2
108. Which of the following is known as ‘data about data’ ?
(a) Attribute (b) Value (c) Meta data (d) None of these

109. Which of the following is a candidate key ?
(a) Primary key  (b) Alternate key (c) Both(a)and (b) (d) None of these

110. Which of the following view is the highest level of data abstraction ?

(a) User view (b) Global view (c) Conceptual view (d) Internal view
111. How many mappings are required in a database system with three different views/levels ?
(a) 1 (b) 2 (c) 3 (d) 4
112. Which of the following data independence protects a change in external schema ?
(a) Logical data independence (b) Physical data independence
(c) Both (a) and (b) (d) None of these
113. Which of the following is not stored in data dictionary ?
(a) Meta data (b) Data files
(c) System catalog (d) All of these are correct.
114. Which of the following represents relationship in E-R diagrams ?
(a) Anoval (b) A rectangle
(c) A diamond (d) All of these are correct.
115. Which of the following is an abstraction mechanism ?
(a) Generalization (b) Aggregation
(c) Specialization (d) All of these are correct.
116. What will be the cardinality of a data table having 6 rows and 5 columns ?
(a) 11 (b) 5 (c) 6 (d) 30
117. An entity set not having sufficient attributes to form a primary key is called
(a) Weak Entity Set (b) Strong Entity Set
(c) Owner Entity Set (d) None of these
118. Which of the following operation is an unary operation in relational algebra ?
(a) Setdifference (b) Selection (c) Set union (d) Cartesian product
119. If every non-prime attribute of a relation ‘R’ is fully functionally dependent on its primary
key then the relation ‘R’ is in normal form.
(a) 34 (b) 2m (c) 1 (d) BCNF
120. Which one of the following does represent the transitive rule for functional dependencies ?
(A X=>YandY - 2) =X —X) b)) X>YandY - 2)=(X—2)

) X>YandX—->2)=(X—>YZ) (d) None of these

121. A two-phase locking protocol has .
(a) growing phase followed by shrinking phase
(b) shrinking phase followed by growing phase
(c) growing phase, transition phase and finally shrinking phase
(d) transition phase followed by stable phase
SeriecA 5 T ol
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108.

109.

110.

111.

112.

113.

114.

115.

116.

117.

118.

119.

120.

121.

g ¥ M DBMS 1 ¢80 781 & ?

(a) Excel (b) MySQL (c) Access (d) DB2
FrfaRea 0 @ % o1 ‘ST S IR 4 Ser’ & T H SHE A 8 2

(a) Tgege (b) AT (c) eI (d) ST & HIS T
ffeTRad o & % T hiee Foil (H1) 7 7

(a) STEwd it (b) 3Hfeetie St

(c) (a) 3R (b) T (d) T & I3 TE

frefafiad & @ 8 &1 S (view) STeT 3T 1 I=dH TR & 2

(a) T (b) TeirsIet = (c) FEGHAT  (d) FTTEAH
f 31T - 31eT /W ATt STereE faken H fehat Afi it strevEear g | 7

(a) 1 (b) 2 (c) 3 (d) 4
ﬁﬁ%ﬁﬁﬁﬁwwﬁnﬁmﬁwﬁgwwﬁ% ?

(a) dTfcheh STT T (b) ifcreh STeT TordsaT

(c) (a) 3T (b) EH (d) T & 1 T

freferfiaa # @ = @ grer fewd § wdia 72 g ?
(a) TS (b) STeT ®IZeH (c) Toeen Featm @) Iehad g |
Frferftaa @ 19 o1 3-3TR 3@ (SEU™) § 9 i edr & ?

(a) Teh AT (b) Teh T (c) Teh STHHTS (d) e = & |
fr=ferfaa o & &1 91 v S (TeHgeRE) Fhsa 8 ?

(a) GRS (b) T (c) forgrosrar (d) Iafiad g |
6 IR Td 5 TR STl STET dTfetehl <hl ShIfeATIord! < aifl ?

(a) 11 (b) 5 () 6 (d 30

ush Ufedt T2, ot yrewdt oft s % for vt wdiege A 4, FHEATT 2 |

(a) FAGIR YR VL (b) F@ AT (¢) IARMURA T (d) 70 T HiE Tl
frefafiad 9 @ @ a1 SATeH fereme Tests | Ush I TRIA 8 7

(a) e fewa (b) TR (c) & IR (d) ST TR

3R foreft freteM ‘R # Seh A -3msH Tdiee It ot saeht smefires st W feft 81 it a1 e
R A wH AR |

(@) dREY (b)) GEERY) (c) T&t (1) (d) .¥.T.TH. (BCNF)
frefafga & @ wF a1 bema feuet & fou afvfea frrm 1 ewfar g 2

(A X=>YandY - 2) =X —X) b)) X>YandY - 2)=(X—2)

) X>YandX—>2Z2) (X —YZ) (d) 8 AHE =
Teh ¢—thol AAIThTT TIeTehiet BT g |

(a) TTET %S o aTg T2feht et

OREEUREEX IR IR

(c) TS Wt IS st 31 37a & fifehm %t

(d) TTSIeH Tl o oT¢ fRR
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122.

123.

124.

125.

126.

127.

128.

129.

130.

131.

132.

133.

134.

SDLC stands for

(a) Software Development Life Cycle (b) System Development Life Cycle
(c) Software Design Life Cycle (d) System Design Life Cycle
Which of the following is incorrect in case of goals of RAD model ?

(a) Decreasing the time taken to develop software

(b) Decreasing the cost incurred to develop software

(c) Increasing the communication gap between customer and developer
(d) Limiting the cost of accommodating change request

In transformational analysis, DFD is divided into  types of parts.

(a) 4 (b) 3 (c) 2 (d) 5

Stress testing is designed to determine the behaviour of the software under condition.
(a) normal (b) extreme (c) operational (d) None of these
CASE stands for

(a) Computer - Aided Software Engineering (b) Control - Aided Science and Engineering
(c) Cost - Aided System Experiments (d) None of these

The user’s system requirements are the part of which document ?

(a) Software Design Document (b) Software Requirements Specification

(c) Data Dictionary Document (d) Software Refinement Document

Which of the following comes earliest in SDLC ?

(a) Coding (b) Design (c) Analysis (d) Testing

Which is the most important feature of spiral model ?

(a) Quality Management (b) Risk Management

(c) Performance Management (d) Efficiency Management

Cohesion is a qualitative indication of the degree to which a module
(a) can be written compactly

(b) focuses on just one thing/topic

(c) is able to complete its function in a timely manner

(d) is connected to other modules and the outside world

In which testing phase the different software modules do interact with each other ?

(a) System Testing (b) Unit Testing

(c) Integration Testing (d) Acceptance Testing

Which of the following is not included in the efficiency of a software product ?

(a) Processing time(b) Licensing (c) Responsiveness (d) Memory utilization
In the context of software metrics, what is represented by LOC ?

(a) Lines of Characters (b) Length of Cycles

(¢) Lines of Code (d) Logic of Code

In computer networks, the term FTP stands for
(a) File Transfer Program (b) File Transfer Protocol
(c) File Transfer Protection (d) File Transmission Program
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122. SDLC 1 dredd 8
(a) TTFCTR STATHS ATSH HTZIhet (b) Toreen Sactutic ATE® ATsfha
(c) TR TEwTTea os® argiehet (d) Ty fesme oe® amgfera
123. Tm=ferfiga @ @ & 91 RAD Hise & o1&91 & Al § Tefd & 7
(a) ATFeR foehfird s | T aTelT JH 1 6T |
(b) TTFRR fIhfrd i T oA aTeft FTd 8 T |
(c) UTEh IR STTR o 9 TER AR TgHT |
(d) aREde STTUY T THRITA T hl ANT bl EH HET |
124. UiEd=eil fagawor #, DFD I WehR o WM & forwnfora fopam s 2 |

(a) 4 (b) 3 (c) 2 (d 5
125. & TR0 1 ARSI % TR hl gitfefa § S o foru fesiea ferar smar 2 |
(a) HH (b) =W ORLSISE (d) T8 T HIS T

126. CASE <1 dicd 2
(a) TP -TST AFAIL TSI (b) TeI-TSE TEH 3TN Shf=fa

(c) Hie-Tgs foen wamuidicE (d) 3T T 1S T
127. STANTehd! ! fieen 3TTeawaehart fhH c&ardst i & g ?
(a) TTFRSI TETs Teamast (b) TR LA faawor
(c) T IeTeh T CEATAS (d) TTFERR ML EaTas
128. ©E.E.ta. 5. (SDLC) T fr=ferfiga § i &1 Te® uget 3T 8 7
(a) ohIfST (b) st (c) Targerso (d) 2feem

129. TS HISe hl Had Hgwaqul fersroe i i 8 ?
(a) TUET YGRS (b) SHTEH YaeE (c) eI Jared (d) geFar JaweA
130. TTHSE (HIZIF) Teh olTeHeh Gehal <l w1 (feaft) B foresh gr ueh wigge
(a) Hfere &9 § foren S aehen 2 | (b) heet Teh o] /fora W enfgd B B |
() ATNHA ATV BHFTIER | (d) 31 Higged 3N el g+ & TG B |
131. fore wiieror =o § T SRR ATge Th-gut o 1Y SR Hd @ ¢
(a) Tremuliamr  (b) sTE wlieqwr (c) TEhHIRUT qliEyr  (d) Eftehid adem
132. T=ferRga § s @1 wiveser disde hi arar § quiiga T8 & ?

(a) TR EmT (b)) AT (c) THTfeg (d) TER <Y ITARTT
133. TieeaaR Afeed & Hey |, Tt 318, (LOC) gRI 1 g1l ST & 7

(a) T 31T hideH (b) Y 3T TTSiheT

(c) TS 31T IS (d) TATTh 31T HIS
134, HFP g™ |, FTP &1 arcHd &

(a) ISl STEWT ST (b) WISl ZTEHT SThict

(c) IS g M1 (d) FIEA et TEm
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135. Which of the following routing algorithm suffers from count-to-infinity problem ?
(a) Distance vector (b) Link state (c) Hierarchical (d) None of these

136. Which of the following OSI model layer uses byte stuffing technique ?
(a) Application (b) Transport (c) Data link (d) Presentation

137. Which of the following device operate at Network layer of the OSI reference model ?
(a) Bridge (b) Router (c) Switch (d) Hub

138. What is the number of layers in the OSI model ?
(a) 2 (b) 4 (c) 7 (d) 9

139. In OSI reference model, end-to-end connectivity is provided by which layer ?
(a) Network layer (b) Data link layer  (c¢) Physical layer (d) Transport layer

140. What type of transmission is involved in communication between a computer and a key
board ?

(a) Half-duplex  (b) Full-duplex (c) Simplex (d) Automatic

141. In which technique of routing, we send every incoming packet on every outgoing line except
the one it arrived from ?

(a) Throtling (b) Flooding (¢) Forwarding (d) None of these
142. The technique of temporarily delaying outgoing acknowledgements is called
(a) Piggybacking (b) Interleaving (c) Flooding (d) None of these
143. Which one of the following protocols is used for E-mail services ?
(a) HTTP (b) 1P (c) SMTP (d) PPP
144. UDP is an abbreviation of
(a) User Datagram Protocol (b) User Design Protocol
(c¢) User Datagram Procedure (d) User Design Procedure
145. Which of the following layer is not present in TCP/IP model ?
(a) Transport layer (b) Link layer (c) Application layer (d) Session layer
146. How many bits are there in [Pv6 addressing ?
(a) 16 (b) 32 (c) 64 (d) 128
147. Which of the following is not a function of Network layer ?
(a) Error control (b) Congestion control
(c) Routing (d) Inter-Networking
148. Which of the following system call is used to create a new process ?
(a) Create (b) Open (¢) Fork (d) Write
149. An operating system in which CPU cycles are equally shared by all executing processes is
called a
(a) Time sharing system (b) Multiprogramming system
(c) Multiprocessing system (d) Batch processing system
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135. freferiaa wefén weifen § @ &b o1 wRe<-7-3fhHd v a ufaa g 7

(a) fTe=mager  (b) T we OREUEES] (d) 378 A IS T
136. Tr=feifaa o @ & = OSI-ATesd W (TR S8 iU ST TN hid! & 2

(a) TfeTohsH (b) TEUR OREEAKED (d) ISR
137. fr=faftga & @ = @1 fearga OSI IR Hisd & Jede =K (Td) T HE Hidl 8 ?

(a) forst (b) WX (c) fer= (d) &
138. OSIHigd § WAl hl TR R ?

(a) 2 (b) 4 (c) 7 (d 9

139. OSI{HE Hied 1, We-H-ve 6 Gugd (FfFeiad)) frd wa gru g 2 ?
(a) AZaeh I (b) STeT foteh T (c) Thispet wxa (d) 2TEdE wa

140. T HF TR T HI-9TE o o= ToR § fohd TR 1 TERT (ZEfHee) mite gt g ?
(a) BH-Fod (b)) PA-Gwiad (c) Torcreg (d) TEETferd

141. & <1 fopm fafer o g9 & wh A 91ct Uohe bl B Ush ST dTefl 184 W Hid & e 39eh
frea @z s e ¢

(a) STefemT (b) TATET (c) IS (d) 378 T HIg T
142, STSTET THIooH~<d | 3Rl €9 § ¢l i sl dhiieh i gl 1T 2 |

(a) fomfisfbn  (b) sreehfem (c) wAfen (d) T & 1S
143. Ffafga o @ S 91 T Tehict §-Uet 9a131i o fote 3wz fran St g 2

(a) T.AA . (HTTP) (b) 3L, (IP)

(c) TE.Tq.3.9. (SMTP) (d) 9t.91.49t. (PPP)
144. UDP U& Hfcd €98 &I |

(a) ISR ST IEIhict (b) ISR fesmea Wierpia

(c) IR ST TSR (d) IR FesTe TRfsR
145. Treferfaa o @ o & wa TCP/IP Aiget # & 8 2

(a) TTEUE Wd (b) foieh Tt (c) TfCTehyH I (d) T I
146. TPv6 Uit # fepafl fogm g € 72

(a) 16 (b) 32 (c) 64 (d) 128
147. 374 @ I 91 S A2aeh TR HITE 8 ?

(a) Error control (b) Congestion control

(c) Routing (d) Inter-Networking
148. T 78 WIEH i 3¢9 hid & fou fAfariaa # @ ferg fireen svict 1 ST BT @ 7

(a) fopre (Create) (b) A9 (Open) (©) Hih (Fork) (d) Tge (Write)
149. e ATRfeT fen forem ot sasfiafen e . .3, arsfehe (Tsh) ! SRISR HISH hid &, 3§

HEd 7 |
(a) <T3H 1T formen (b) TSR faeH
(c) wedarEte faweq (d) = TafE fen
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150. What do you call a program in execution ?

(a) Command (b) Process (c) Task (d) Instruction
151. Which of the following is not a process state ?
(a) Ready (b) Invalid (¢) Running (d) Waiting
152. Which of the following is a type of operating system ?
(a) Time sharing operating system (b) Distributed operating system
(c) Batch system (d) All of these are correct.
153. Which of these elements is/are included in a process control block ?
(a) Process state (b) Program counter
(c) Context data (d) All of these are correct.
154. Which of the following scheduling algorithms gives minimum average waiting time ?
(a) First-Come-First-Serve (FCFS) (b) Shortest-Job-First (SJF)
(¢) Round Robin (RR) (d) Priority
155. Which of the following is not a Memory Management Technique ?
(a) Fixed Partitioning (b) Dynamic Partitioning
(c) Paging (d) C-Scan
156. Which of the following conditions is not necessary for a deadlock to happen in a system ?
(a) Mutual exclusion (b) Hold and Wait
(c) Pre-emption (d) Circular wait
157. is a condition when the operating system is spending its major time in servicing page
faults.
(a) Deadlock (b) Thrashing
(c) Process synchronization (d) Memory blocking

158. Virtual memory is
(a) an extremely large main memory.
(b) an extremely large secondary memory.
(c) an illusion of larger memory than available in RAM.
(d) atype of memory used in super computer.

159. Which of the following is designed to control the operations of a computer ?

(a) System Software (b) Utility Software
(c) Application Software (d) User’s Software
160. Which of the following system calls are related to files ?
(a) OPEN (b) APPEND
(c) SEEK (d) All of these are correct.

161. If the page size increases, then the internal fragmentation
(a) decreases (b) also increases (c) remains constant (d) None of these
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150. 379 sITEH (execution) T fopet T <1 R HhEd B ?
(a) A (HATE)  (b) Ffsha (STEH) (c) M (Ir&h) (d) Few (sm)
151. Tr=fafaa 8 @ o8 v ufskan s 78 2 2

(a) AR (b) I (c) NIAE B (d) Tdhtera
152. f=faftga & @ = @1 AR fireeq o1 wh TR g ?

(a) 2TSH TG SATRfET faeen (b) Toafa st faen

(c) o= foren (d) IafR T g |

153. 37 379341 (elements) T T i< GT/8 THY il scilsh H IMUA 8/ 7
(a) THE &L (b) T H3T (c) HIHL BT (d) Ifiadi g |
154. Tr=feftaa & s o Segfei temiten ge@ w0 3w yden aaa it § 2

(a) TEA-3TSA-TgA-137 (FCFS) (b) TEH BIT-HW-I8 (SIF)
(c) TSE UfH (RR) (d) STafHeRar (Priority)
155. Trerferfiaa & & i €t s wfe e denien T2 7
(a) Tafvea favrem (b) TTieRfiel (Dynamic) favrs=
(c) ufS (d) ®-ThT (C-Scan)
156. U foreen H Seclieh 301 M o foru fforfiaa o @ 6 =t 31d smaws T8 & 7
(a) RII THIFRISH (b) BCS WAL
(c) Yi-umsH (d) TR I
157. ush vt feuf @ e sttfn fren s tfeepis T Ut Wiced o ik A
fid AT R |
(a) SScAleh (b) 9y (c) o RshHTESISF (d) BORY SetifeRT
158. I3 HAI &

(a) e st B9 A

(b) et st fgeitares T

(c) RAM T 3uetedy AHRT ¥ 31feres BHR <1 3T4TE

(d) R PR T TIH B ATeA HART 3T Teh ThR
159. fr=ferfaa ® & 1 o1 Hreget o Harer @i FEfd & o fofe fesrea frn mn g 2

(a) Toeem AfweaR (b) JAMHI ARAR  (c) TThyH AFATR (d) I T AFRSRR
160. T=forfaa & im it foren Sicy wigew & qrafed @ 7

(a) 39 (OPEN) (b) 3TUUS (APPEND)
(c) % (SEEK) (d) Ifiadi g |
161. e U T IATHR FGdT & I ITdEh [T@usT
(a) FHECR | (b) HisEde | (c) TR TR | (d) S & 1S T
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162.

163.

164.

165.

166.

167.

168.

169.

170.

171.

172.

173.

174.

175.

176.

177.

The characteristic of a computer that it is free from monotony and tiredness is termed as
(a) Versatility (b) Diligence (c) Automatic (d) Speed
Converting (10111011101), to hexadecimal number will give answer as

(a) (BBS)6 (b) (5DD)s (c) (2735)1 (d) None of these
Hexadecimal equivalent of (41819),, 1s

(a) (A35B);s  (b) (BS3A) (¢) (A35C);4 (d) (C53A),4
Integrated Circuits (ICs) were firstly used in which generation of computer ?

(a) Second (b) Third (c) Fourth (d) First

Which of the following is not an impact printer ?

(a) Dot matrix printer (b) Daisy wheel printer

(¢) Drum printer (d) Laser printer

Which type of RAM needs to be continuously refreshed with power supply ?

(a) SRAM (b) DRAM (c) ASRAM (d) BSRAM
Binary equivalent of Gray Coded number (11010011) is

(a) (10111101), (b) (10011101), (c) (11011101), (d) (11100001),

Sum of (342)g and (653)g is

(a) (125)g (b) (995)g (c) (1215)g (d) (115)g

Which of the following program copies a program from storage device to main memory ?
(a) Linker (b) Loader (c) Debugger (d) None of these

2’s complement of Eight bit (11);, is .
(a) (10010101), (b) (11010101), (c) (11110101), (d) (11110111),

CPU on a single IC chip is called .

(a) Micro computer (b) Micro processor

(c) Micro controller (d) None of these

Which of the following memory is fastest ?

(a) Cache (b) CDROM (c) SSD (d) Hard Disk
In computer network full form of OSI is :

(a) Optical Services Interconnection (b) Open System Interconnect

(c) Open System Internet (d) Operating System Interface

is the interpretation by a computer of a line of characters written in special magnetic
ink.
(a) Magnetic Ink Character Recognition (b) Magnetic Ink Character Remarking
(c) Magnetic Ink Cheque Recognition (d) Magnetic Ink Character Rendering

Which of the following technological aspect(s) is/are covered in Information Technology ?
(a) Computers (b) Communication (c) Electronics (d) All of these

Which of the following is a type of E-commerce ?

(a) B2B (b) B2C (c) C2C (d) All of these
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163.

164.

165.

166.

167.

168.

169.

170.

171.

172.

173.

174.

175.

176.

177.
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Th HPL i fersra fop g UohtEan 3R ¥ | 4 g, HEed & |

(a) SggEgfear  (b) oFH (c) Terferd (d) e
(10111011101), 3l FFETSHIHA TR § FEeT T I ST

(a) (BB5)g (b) (5DD);6 (c) (2735)6 (d) 3T H s T
(41819),, 1 sFASHHAA AT B |

(a) (A35B)¢ (b) (B53A)6 (c) (A35C)6 (d) (C53A)46
S Tlehed (ICs) T YoM SR FANT HrRpe shi fohd digt (e o foham mm o 7
(a) gudl (b) el (c) el (d) weedt
frfefaa o S @1 U 3w e T8 8 2

(a) Sedfma i (b) S i (o) i (d) T et
e TR Y RAM ! UTel HeATS o A1 FRaT aTeT (Refresh) ford ST hl 3Trersarehar et 8 7
(a) SRAM (b) DRAM (c) ASRAM (d) BSRAM

T HhIge @@ (1101001 1) IR TAGT & |

(a) (10111101), (b) (10011101), (¢) (11011101), (d) (11100001),
(342)g 3R (653)g BT AT R

(a) (125)g (b) (995)g (c) (1215 (d) (115)g
FrefaRaa 9 a1 o wes T s LR fearge @ 81 3§ i s g ?

(a) formt (b) WIret (c) fesmm (d) S & 1S T

M- & (11),, T 2’s HircAiHe 2|
(a) (10010101), (b) (11010101), (c) (11110101), (d) (11110111),

Tt IC fo w feord €t g, (CPU) T ST 8 |
(a) TTSSHI IR (b) HTSSHI TTEE (c) HTSsh! Thrglel (d) 3T § IS T

fefafgad a st asd aw 8 7

(a) 9 (b) W< (c) THTEE (d) =Te feeh
FHIRT T T OSI H FoT B 7 :

(a) et AR Seteha (b) 3T FireeH getepae

(c) AT foreem gee (d) Irnfin faeen setha
o i wrd @ U ufe § forg e h e g Srer R |

(a) THfEh 5 higet Fpifmzm (b) TR 5o higet fafe

(c) Bmfees 3o 9o Repifrism (d) Ffes 3o hiaex LSl
freferfaa o & w9 @1/8 dendiehl Tge] gar Teifieh 3§ wite 8/8 7

(a) HrREH (b) TER (c) T (d) I mfi s 2 |
freferfiea 5 | SF $-hHE H1 TH TSR & 7

(a) sigs (B2B) (b) s gl (B2C) (c) gH (C20)  (d) AT dHE |
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178. In which topology, a token is moved in circular fashion ?
(a) Star topology (b) Bus topology (c) Ring topology (d) Mesh topology

179. Which one is not a type of computer network ?

(a) LAN (b) MAN (c) WAN (d) GAN
180. Tree Network is also known as .

(a) Mesh Network (b) Mixed Network

(c) Hierarchical Network (d) Graph Network

181. Which one is not an example of network topology ?
(a) Bustopology (b) Tree topology (c) Circle topology (d) Mesh topology

182. Full form of NEFT is .
(a) National Economical Financial Transfer
(b) National Efficient Fund Transfer
(c) National Electrical Fund Technology
(d) National Electronic Funds Transfer

183. Which of the following is/are optical code ?

(a) OMR (b) QR Code
(c) Bar Code (d) All of these are correct.
184. Which of the following is incorrect ?
(a) X-X=0 (b) X-X=1 (c) X+X=1 d X+1=1
185. Which of the following is a universal gate ?
(a) XOR (b) X-NOR
(c) NAND (d) All of these are correct.
186. In case of ‘Don’t Care’ condition, a minterm may produce for a Boolean function.
(a) Zero only (b) One only
(c) Either zero or one (d) All of these are correct.
187. Half adder is used to
(a) add two bits at a time. (b) add three bits at a time.
(c) add two binary numbers. (d) add multiple bits at a time.

188. A° \
T D—

What does above logical diagram represent ?
(a) Full adder (b) X-OR operation (c) Half adder (d) Half subtractor

189. The minimum number of NAND gates required to represent two input AND operation is

(a) 2 (b) 3 (c) 4 (d) None of these
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178. ferm Srdreioht #, Srend Tehort Sy H gHar 8 7

(a) WRAUAST  (b) &F ATl (c) a1 ararerisht (d) T SrdTeArSi
179. I | Teh TR hT HE Heaeh el & ?

(a) LAN (b) MAN (c) WAN (d) GAN
180. fidcah sl HEIHMTHIS@IR |

(a) T Aeah (b) Turfya eaeh (c) Teufherct Jeass  (d) T Aeah

181. Zaeh SIATATSH Sl <hiH T Teh 3T &l & 7
(a) SEAUAST (b)) ¢ St (c) Tfchat AUt (d) B SdTeATSH

182. TH.3.U%. & (NEFT) &1 qU1 &9 21

(a) SR SITHeheT BTSN SEHL (b) I FHIUE B TEH

(c) SR SATRIhA B caTaralt (d) IS ST T-h HEH ZEHT
183. Tt § @ = w1 /@ HARHa Hig 8/2 ?

(a) 3MTAIM.  (b) FIMW. IS (c) SRS (d) Iefi Sw g |
184. ffiaa A @A A e 8 ?

(a) X-X=0 (b) X-X=1 (c) X+X=1 d X+1=1
185. Tfarfaa & @ o6 o1 vk gfedi@ e ? 7

(a) TR (XOR) (b) THE-FIT (X-NOR)

(c) U8 (NAND) (d) IafiSw e |
186. ‘sfve i ferfa 1, weh gferm havH o fote ush fied THHAR |

(a) had I (b) hadT T (c) 3T I AT TH (d) Amf s g |
187. Bt TS Sl IUANT T STl 2

(a) T T1Y ¢ forgq bl e A | (b) T WY T foed I e | |

(c) Q1 ST e o ST # | (d) T H1Y %S fagd i e 1 |

188. /];xz :)) > :
P )

IR e o T g R 7
(a) H TH (b) X-OR AMIH  (c) & TH (d) BT T&gFR

189. NAND 72H 3! = H&AT A1 & $7YE b AND TR <l G 3G STTIIH 7, 7|
@2@ O3 (© 4EW (d) ¥ & TS T
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190. Which logical operation is represented by the truth table given below ?

X y | Operation
0 0 1
0 1 1
1 0 1
1 1 0
(@ (x+y) (b) x @y) © (x.y) d &ty
191. A product of sum is also termed as
(a) Maxterm (b) Minterm (c) Literal (d) Constant
192. In which of the following pairs each member represents a universal logical gate ?
(a) AND, OR (b) NAND, OR (c) NAND, NOR (d) AND, NOR
193. What is the minimum number of two-input AND gates needed to construct one four-input
AND gate ?
(a) Three (b) Four (¢) Two (d) Five
194. A meaningful name given to a data storage location in computer memory is called
(a) Constant (b) Identifier (c) Address (d) None of these
195. Which function is used to alter the size of previously allocated memory ?
(a) calloc() (b) malloc() (c) free() (d) realloc()
196. In C language, the operator that acts on single operand is known as operator.
(a) Binary (b) Unary (c) Ternary (d) Single
197. The size of data type double in C programming language is bytes.
(a) 2 (b) 4 (c) 8 (d) 16

198. What will be the output of following C code ?
# include <stdio.h>

int main( )
{
inti=1;
while (i <= 10)
{ printf (“%d”, 1);
1=1+1;
}
return O;
ga) 123456789 (b) 12345678910
(c) 12345678 (d 1234567
199. Which of the following operator symbol is used in C to get the address of a variable ?
(a) * (b) » () & (d) ~
200. In C language, what will be the value of x if x =3 * 4 % 5;
(a) 12 (b) 15 (c) 3 (d) 2
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190.

191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

= € T8 How drforeRT fohd Aol HATRIH i aMidl & 7
x oy ATRIA
0 0 1
0 1 1
1 0 1
1 1 0
(a) (x+y) (b) x @y) () (x.y) (d x+y)
Th TISHe H® GH I oft SET T R |
(a) Heded (b) Torerd OREES (d) HiHE<
freferfiea & & F 8 Tig § T Teed JHadd Alferehe e guiar 8 ?
(a) AND, OR (b) NAND, OR (c) NAND, NOR (d) AND, NOR
Tsh IR-3TY AND T1e & foior & fere =gam feha g1-399¢ AND T1g® <l 3Tergerehal &Rt 7
(a) @H (b) W (© @ (d) ==
I HURY H STeT WSHUT o T ol feaT 7211 Ush @nefeh 19 Haettdl &
(a) HIHE (b) FTEEfHRR (c) TgH (d) S8 & 1S T
‘s’ﬁ@ﬁﬂ Function%TEPﬁ’T‘T&'ﬁ@ m&aaﬁﬂéﬁﬁlﬂaﬁmaﬁmﬁ;mmw% ?
(a) calloc() (b) malloc() (c) free() (d) realloc()
C 9197 H, 3T S Teh 3ATRES T hR hidl g, AR HEAT & |
(a) STETd (b) I (c) T (d) fmer
C T 99T §, €771 2159 €9 ohl i8S ST BIA 2 |
(a) 2 (b) 4 (c) 8 (d) 16
fr=ferfaa ¢ ig o1 sseye & 7
# include <stdio.h>
int main( )
{ inti=1;
while (i <= 10)
{ printf (“%d”, 1);
i=i+1;
}
return 0;
Ea) 123456789 (b) 12345678910
(c) 12345678 (d) 1234567
C ¥, Frafeiitaa T & o= & 31oet frvaret o1y foredt aftusret o g o1 a6 fou fpn S & 2
(a) * (b) » () & (d) ~
C 9T H, AT x =3 * 4 % 5; Al x T I FATEAT ?
(a) 12 (b) 15 (c) 3 (d) 2
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